COLLEGE DEGREE

LOGIC PUZZLE

Print out this brain puzzle and use the tdble to solve it.

Each box represents a possible answer. Find the right combination of rows and columns.
When you find u box that cun’t be un answer - mark it with an * X",
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When you find a box that is an answer - mark it with \/
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Story:

5 students pussed their findl
deyree exumination in dif-
ferent subjects.

Find out which college
euch wus enrolled in, the
subject in which euch wus
enrolled and the marks
euch student obtdined.
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e One yirl wus studying Archaeoloygy: the other was at Charterhouse
College

e The stfudent from King Alfred’s who wds graduated first of his class
wus hot Gordon, the Clussics student.

e Lawrence ygot higher marks than the Maths student, who didn’t
puss their final exam.,

e The Economics student came third in his cluss.

e The biochemist studied at Canterbury College.

o Sully’s maurks were lower than those of the student from St Mark’s.



